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No. | % W(mm) | H(mm) k- R B 2| B 6 4 % &
I [Bh D —T 2]
1| EmEE () 3300  2000|1.5fFt & BART~fERN X o URER | IR 11 7 —G
2 [EEHE (UNFR) 1200  2000(1.5fFt & BT ~VERt & o v RN | T 11 Y —G
3 | FHwm#EE (D) 2100|  2690|1.5f%t & BART~VEER Z vk | BT 11 ) —G
4 |ASLIEE)E 2150  2690|1.5fF k& BAR T ~GEGE o URES | BT 2 ) —G
5 | L A—2 8800| 2700|1.5f% b & Bk T ~ILfkRt X v uRERH | BET 2 7Y —G
6 |[HEHRE 1200  2750(1.5fF b & BAR T ~VEERt & o v RN | T 1 Y —G
T |BEMHRE 2900|  2750|1.5f5 e & BHR T ~VEENE X o RVRERH | BT 1 ) —G
8 |HuRTEtE & — 2200 2730|L.5fF k& BART~GEGE X o BR[| BT 1 7 —G
9 |Hu R & — 5200 2730(1.5fFv & [BHER T ~MER X AR | BET 1 7Y —G
10 [WkE HEAE 2300 2350|1.5f% b & BT ~LHERE X o ukEM | BT 2 ) —G
11 |fRfdtsE 4000 1700(1.5fF e & BHER T ~HEf X o BARES | DET 1 7Y —G
12 PR 2000 1700|L.5fF k& BAR T ~GEGE ¥ o LR | BT 1 7 —G
13 |fRfd=E 2000 2390|1.5fFt & BHRT~GERE X o URES | PR 1 7 U —G
14 PR 2100| 1850|1.5f% b & BhRZ~fEft Z o B UfEM | BT 1 7 —G
15 |fRfd=s 3400|  1850|1.5fF b & BAK T ~VfERT X o BURERH | BET 2 7 U —G
16 |HA=E1 1800 2280(1.5fFk & [hkT~Lilft & vt | UET 1 7 —G
17 |FER=E2 2000| 2230|1.5f% b & Bk T ~UUREAT & o R URERH | W ET 1 1) —G
18 | (o) 3300  2000|1.5f%k & Bh T LSS 2 v R REN | T 6 Y —G
19 [Em#E (PFEE) 1200  2000|1.5fF b & Bk T ~IVkkeft & v ®'kESH | BPT 6 7V —G
20 |MEFE (HEEER) 2200  2690|1.5f%5 b & Bk T VR X ok RERH | BET 6 ) —G
21 TG 2500  2000|1.5fF e & Bk T VGRS X v RS | BET 2 Y —G
22 |FHPREE 2500| 1830|1.5f% b & BHR T~V & o BLRER | BT 1 7 —G
23 |FE= 2300|  2000|1.5f5E & BHK T ULKENT X o B AKEN | WET 1 7V —G
24 |1EE=E () 2500|  1830|1.5f5E & BHR T ~LHERT X o URER | BT 1 ) —G
25 |1E3E= (HaEEm) 2500|  2000|1.5fF b & BAK T ~VHER X o BURERH | BT 1 7Y —G
26 | LEM=E 2500| 1830|1.5f% b & BAR T ~LfERt & o BLRER | BT 1 71U —G




No. B Fh W(mm) | H(mm) T4k RE Bif £ B > B8 s &
27 |MILEMR=E 2500  1900|1.5f% & & BAR T ~LfEft & o B URER | BT 1 U —G
28 |FH= 2500  1900|1.5f% b & Bk 7 ~fkft & o ARER | BT 2 ) —G
29 |B IR EE 2100|  2000|1.5f% e & Bk 7 ~Uufgrt X o2 uRERH | BET 3 7Y —G
30 (EMH=E 5900  2000|1.5f%k & BHk T ~LfkElE 2 o UREN | BT 1 Y —G
31 |BEAE 3 2200|  2280|1.5f% e & BA%k T ~ULfERt X o2 URERH | BET 1 1) —G
32 |HEA=EA4 2100|  2280|1.5f% b & Bk T~ fkft X ok RER | BT 1 ) —G
33 | FEEAAE 2000 2300(1.5fFv & BHER T~ X oA | IET 1 1) —G
34 | FHEZN 1850  1150(1.5f% & Bhigk 7 ~Likft & o wgkft | BT 1 ) —G
INET
I [Rr 3 EHRHh—T]
35 |fHEER SR 2200|  2690|1.5{%E & Bi%k T LR X o UEERH | BT 2 £ F A6
36 | SEE 2100|  2000|1.5fFE & Bhdk T ~LhkRE & o LRt | T 2 A A AG
37 B SR E 5200|  2500|1.5{%F e & Bk T ~UERt X o uEERH | BT 1 A F A6
38 | SEE 3300| 2500|1.5fFE 4 BEdk T ~LERE K o ukERE | AT 3 A ARG
39 | S 3200  2500|1.5f5 k& BHk T ~VfESE X o RVRERH | BT 1 A FAG
40 |[IKBEEHAR 2400  2530|1.5f% & BEk T ~ILRERE K o uERE | AT 1 A+ AG
41 IR BEEIFR 2400  1800|1.5f5 b & BAR T ~SAMESE & v KT | BT 4 A ARG
INET
M [Bh % L —RD—T ]
42 [R= 5800  2000|1.5fF k& BART~GEGE X oL | BT 1 T=v76
43 |FHH= 4200|  2000|1.5fF b & BAK T Vg X o BURERH | BET 1 T=v7G6
INET
VIR vy —h—T ]
44 |ZHM R L 2000|  1900|1.5f5 & BHR T ~VHERE X o ukER [ T 5 EVIZ
45 |KIEFIEE (ELEL, 2) 2200  1950|1.5f5 b & BER TSGR & oK | BET 2 e
h—TUmAEIE - - 71 Pt 45

INET




No. £ ¥ W(mm) | H(mm) k- JRAE Bifr = B (i > %8 5 &
VIERITS/1UF]
46 [H&E= 1930 2000|774 v F =Z==arE7 35 = 3
47 |FHH=E 2100 20007 F A > K =Z=a %E7 35 = 2
48 |WkE = 1200 1100|774 > F ==aE7 35 =) 8
TSAUFBRRITE = 13
INET
VI[FHL—IL] TAIML—L (h—Y—)
K LA A —TL— (FELRERLE) L=2m 1 6 Za—F I L—
RKfFr— L=2m 1 { 1 =a—FT v L—
iy L—/b OKIGFNREE T ACE) VHYD (HA00FE) L=2. 7Tm Ve 2 =a—U7 L=
H—F v L— )V i T Vs 9
INET
VI[H SR T4V LTEE] 3M SH2FGIM—PR7 /LA
W84 0XH1540 3M SH2FGIM—PR7Z /LMD | HFF 6
INET
IEE R 2y 1
AR S HRAE - WML B ST X 1
INEE
THE B
&t




